Svenska Bridgeforbundet
Oppna OBS privatprotokoll 41-70

IMP 6ver féltet, 8 bord, 16 par. Antal brickor: . Medel: 490.00.
Plac  Par Namn MID Klubb
1 14  Ola Rimstedt - Mikael Rimstedt 88183 88184  Harplinge BK
2 5 Peter Bertheau - Simon Hult 16757 36107  Filbyter Bridge
3 10  Frederic Wrang - Johan Sylvan 8652 2325 BK ALERT - Norrorts Bridge
4 3 Tommy Bergdahl - Lars Andersson 2181 5351 Uppsalabridgen - BK ALERT
5 1 Johnny Ostberg - Christer Bjaring 2051 3545 Gavle BK
6 2 Pia Andersson - Kathrine Bertheau 4874 81089 BK Everfresh - Filbyter Bridge
7 13 Daniel Gullberg - Mikael Gronkvist 37167 85230  Norrorts Bridge
8 12 Daniel Eriksson - Rolf Scherdin 24659 3102 Gavle BK
9 11 Peter Fredin - Martin de Knijff 2514 9639 BK Lavec
10 9 Cecilia Rimstedt - Ida Gronkvist 78586 31083  Harplinge BK - Filbyter Bridge
11 6 Marion Michielsen - Per-Ola Cullin 53103 21204  Harplinge BK - Uppsalabridgen
12 16  Bengt-Goran Olofsson - Henry Franzén 9553 12766  BK Bjorken
13 15  Nils Ahlén - Tom Gérds 1169 13002  Uppsalabridgen
14 4 Krister Ahlesved - Jonas Petersson 13995 2059 Uppsalabridgen
15 8 Simon Ekenberg - Mats Nilsland 41685 4773 Uppsalabridgen - BK Lavec
16 7 Olle Wademark - Jan Selberg 14800 11074  Norrorts Bridge
41 410 42 aKn 43 4« EK1095
Nord vKD84 Ost v Kn52 Syd v8
oV * K7 Alla + KD765 Ingen ¢ EK2
#765432 10852 #E754
4 EKn963 4 D82 4109 & K752 4Kn73 4 D62
v 1065 v EKNn73 vK843  vD109 vKD97 <E53
¢ 954 + DKn10862 4982 + Kn1043 ¢ Kn543 ¢ D1097
»K9 ®- #KDKn3 #E4 #K9 #Kn82
« K754 « ED8643 484
v92 vE76 v Kn10642
¢+ E3 ¢ E + 86
#EDKn108 £976 +D1063
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
3 7 3«DN+1 +6 570 0.0 0012 13 24 S= *K 110 00 00 9 1 14 N+3 +9 170 0.0 0.0
4 6 44 S= 2 130 00 00| 2 8 24S-1 *K -100 0.0 0.0|15 10 1a N+3 *2 170 0.0 0.0
9 1 3#S+1 +4 130 0.0 00| 3 7 24 N-1 *K -100 0.0 00| 4 6 24 N+3 *2 150 0.0 0.0
11 14 3« N+1 +3 130 00 00| 4 6 24S-1 *K -100 0.0 00| 3 7 24 N+1 +8 140 0.0 0.0
2 8 5#DS-1 +4 -100 0.0 00| 9 1 24S-1 *K -100 0.0 0.0|12 13 1a S+2 vK 140 0.0 0.0
12 13 54DS-1 +4 -100 0.0 0.0|11 14 24 N-1 *K -100 0.0 00| 2 8 24 N= +9 110 0.0 0.0
15 10 5#DS-1 *4 -100 0.0 0.0(15 10 24 S-1 *K -100 0.0 0011 14 1a N+1 +3 110 0.0 0.0
16 5 44 O= *A -130 0.0 00|16 5 24 S-1 *K -100 0.0 00|16 5 INN-2 s A -100 0.0 0.0
44 4943 45 4 K764 46 4 E4
Vast v EKn93 Nord v 643 Ost v 9763
NS + 1092 Alla ¢ Kn9 Ingen 4 98654
»864 #EK73 #KKn
4 K62 « DKn7 4Kn83 4D10952 4 K75 4 Kn103
v1072 ¥5 vD87 vKn vK1082 vD54
¢ KKn76 ¢ ED53 ¢ K752 ¢ D1063 ¢ KKn72 ¢ ED10
#DKn9  #EK1053 #0952 #D104 *E8 #D752
« E1085 +E 4« D9862
v KD864 v EK10952 v EKn
+84 +E84 +3
72 #Kn86 #109643
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
2 8 4¢ O+1 vK -150 0.0 0.0| 2 8 4v S+1 +5 650 0.0 0.0[15 10 3v V= s A -140 0.0 0.0
9 1 44 0+1 v4 -150 0.0 00| 3 7 4vy N+1 43 650 0.0 00 2 8 INO+3 a5 -180 0.0 0.0
3 7 500= vK -400 0.0 00| 4 6 5vN= v] 650 0.0 00 3 7 3NO= *4 -400 0.0 0.0
4 6 5#0= vK 400 0.0 00 9 1 4v S+l *2 650 0.0 00| 4 6 3NV+1 +8 -430 0.0 0.0
11 14 54 0= &3 -400 0.0 0.0(11 14 4y N+1 43 650 0.0 00 9 1 3NO+1 *T -430 0.0 0.0
12 13 5¢ O= vK -400 0.0 0.0|12 13 4y N+1 a2 650 0.0 00|11 14 3NO+1 43 -430 0.0 0.0
15 10 5# O = vK -400 0.0 0.0|15 10 4v S+1 *2 650 0.0 0012 13 3NO+1 a2 -430 0.0 0.0
16 5 540= vK -400 0.0 00|16 5 4y S+1 ¢+5 650 0.0 00|16 5 3NV+1 v6 -430 0.0 0.0
47 « K94 48 4« E952 49 4« Kng4
Syd vED84 Vast v9 Nord v Kn9643
NS ¢ DKn9752 oV ¢+ Knl1074 Ingen + 109
»- #KKn32 +D96
4107653 & EDKn82 D76  4K8 4D96 #EK
v K6 v Kn102 vKD65 vEKn87 v852  vEK107
+6 +3 ¢+ E6 + KD82 ¢ EK82 ¢ D7543
298763 #EDKn4 #10865 #E74 #E74  #Knl0
a- 4« Kn1043 4107532
v 9753 v 10432 vD
+ EK1084 4953 ¢ Kn6
#K1052 D9 #K8532
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
3 7 6¢6DN= 43 1540 00 00| 2 8 4v 0= *Q -620 0.0 0.0|11 14 5¢ O+1 3 -420 0.0 0.0
4 6 64 S= *2 1370 0.0 00| 3 7 4vO= a4 -620 0.0 00| 4 6 5¢ O+2 43 -440 0.0 0.0
2 8 64DO-5 &2 1100 0.0 00| 4 6 4v V= +5 -620 0.0 00| 3 7 3NO+2 *4 -460 0.0 0.0
11 14 64DO-5 43 1100 0.0 00[12 13 4v O= *Q -620 0.0 0.0|15 10 3N O +3 a2 -490 0.0 0.0
9 1 54DO-4 *2 800 0.0 0.0[15 10 4v V= +J -620 0.0 00|16 5 3NO+3 a2 -490 0.0 0.0
15 10 5¢ S+1 43 620 00 0016 5 4vO= +3 -620 0.0 00 9 1 3NVH v3 -520 0.0 0.0
16 5 64DO-3 +K 500 00 00| 9 1 4vO+1 sJ -650 0.0 0.0|12 13 3NV +4 a4 -520 0.0 0.0
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12 13 54D O -2 *A 300 00 0.0|11 14 4vDO-= +3 -790 0.0 00| 2 8 64 O= a5 -920 0.0 0.0
50 a2 51 « 987 52 » 106
Ost v K9643 Syd v- Vast vD9
NS ¢ E6543 ov ¢ E7653 Alla + 876
£104 #EK862 #EK8762
« K10 # 97654 D10 & KKn642 4EKKn8 494
vD10 v EKn87 vKKn8764 vED109 v7 v EK1042
¢ K9872 #Kn ¢*- ¢ KKn2 ¢ EKNn1042 ¢ K93
#K632 #ED7 #DKn543 9 «D93 #Kn104
« EDKn83 «ES3 «D7532
v52 v532 v Kn8653
+ D10 + D10984 +D5
#Kn985 «107 &5
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poang
3 7 44 0-3 8 150 0.0 00 5 7 5¢DN-2 vA -300 0.0 0.0 3 9 3NO-2 &5 200 0.0 0.0
16 5 44 0-2 &5 100 00 00|16 6 5¢DS-2 v8 -300 0.0 00| 1 11 3NV= »6 -600 0.0 0.0
4 6 240-1 &3 50 0.0 00| 1 11 4vO+1 &T -650 0.0 00|10 2 3NV= 8 -600 0.0 0.0
9 1 240-1 8 50 0.0 00 3 9 4vO+1 *A -650 0.0 0.0|12 15 3NV= *6 -600 0.0 0.0
11 14 2NO-1 *3 50 00 00| 4 8 5vV= &K -650 0.0 0.0|13 14 3NV= &7 -600 0.0 0.0
12 13 2NV = a2 -120 0.0 00|10 2 4vV+1 *K -650 0.0 00| 5 7 3NV+1 vQ -630 0.0 0.0
15 10 2NV = +3 -120 0.0 0.0|12 15 5v V= *K -650 0.0 0.0|16 6 3NV+2 *6 -660 0.0 0.0
2 8 2NV+1 *4 -150 0.0 00|13 14 5v V= &K -650 0.0 00| 4 8 3NV+3 3 -690 0.0 0.0
53 « D6 54 & Kn32 55 #1052
Nord vD1082 Ost vKn74 Syd vK72
NS *4 ov + E1083 Alla ¢ KKn8
#KD10742 #942 #E973
4 KKn94 4 E732 4KD54 &E7 4K64  #ED7
v9 v Kn765 vKD53 v E10982 v 10643 v EDS5
¢ DKn9752 ¢ EK ¢ K6542 ¢ DKn ¢ 432 ¢ E10976
*E5 #9086 *- #ED86 #KD10 #Kn4
#1085 « 10986 & Kn983
v EK43 v6 v Kn98
+10863 +97 ¢+ D5
#Kn3 #KKn10753 #8652
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poang
12 15 2¢ V43 +K -150 0.0 00| 1 11 6vO= aT -1430 0.0 00| 1 11 3NO= v8 -600 0.0 0.0
3 9 24 0+3 &K -200 0.0 00| 3 9 6vyO= +9 -1430 0.0 00| 4 8 3NO= 43 -600 0.0 0.0
5 7 44 0= vA -420 0.0 00| 4 8 6vO= +5 -1430 0.0 00| 5 7 3NO= 49 -600 0.0 0.0
10 2 44 V= +5 -420 0.0 00| 5 7 6v0O= aT -1430 0.0 00|10 2 3NV= &7 -600 0.0 0.0
4 8 44 V+1 &K -450 0.0 00|10 2 6y O= +9 -1430 0.0 0.0|12 15 3NO= 43 -600 0.0 0.0
16 6 44 V+1 &K -450 0.0 0.0|12 15 6v O= &T -1430 0.0 00|13 14 3NO= »6 -600 0.0 0.0
1 11 44 O+2 vA -480 0.0 00|13 14 6v O = oT -1430 0.0 00|16 6 3NO= 48 -600 0.0 0.0
13 14 44 V+2 v8 -480 0.0 00|16 6 6vy O= T -1430 0.0 00| 3 9 3NO+1 49 -630 0.0 0.0
56 « KKn86 57 4« Kn6 58 a74
Vast v DKn65432 Nord vKD3 Ost v KKn
Ingen +10 ov ¢ Kn109654 Alla ¢ D85432
*2 #103 #EKD
43 «D1074 & K84 .- K6 #9853
v K97 v- v 106 v EKn8752 v 1062 vD74
¢ EKD65 ¢ Kn98732 ¢ ED832 ¢ K7 ¢ EKn97 ¢ 106
#9743  #DKn8 *842 #EKD76 #Kn1053 #9876
« E952 « ED1097532 « EDKn102
vE108 v 94 v E9853
¢4 ¢- ¢+K
#EK1065 #Kn95 *42
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
1 11 7¢DV-3 *2 500 00 00| 5 7 6#0-1 s A 100 0.0 0.0 4 8 3NN+2 *7 660 0.0 0.0
3 9 5vN= +8 450 00 0.0{12 15 6v O-1 4 A 100 00 0016 6 3NN+2 *6 660 0.0 0.0
4 8 5y N= *2 450 0.0 00(16 6 6#0-1 3 100 0.0 0.0 1 11 3NN+1 2 630 0.0 0.0
12 15 4y N+1 *Q 450 00 0.0[13 14 54 0= &5 -600 0.0 00| 3 9 3NN+1 v3 630 0.0 0.0
13 14 5v N= +8 450 00 00 4 8 52#0+1 LY -620 0.0 00| 5 7 3NN+1 &2 630 0.0 0.0
16 6 4y N+1 +8 450 0.0 0.0[{10 2 5#0+1 s A -620 0.0 0.0|{10 2 3NN+1 *8 630 0.0 0.0
10 2 5¢DV-2 *2 300 00 00 3 9 5v 0= s A -650 0.0 0.0|12 15 3NN+1 v5 630 0.0 0.0
5 7 6vy N- +8 -50 00 00| 1 11 6#0-= 4 A -1370 0.0 00|13 14 3NS+1 *J 630 0.0 0.0
59 a5 60 # EKKn6 61 K98
Syd v 96 Vast v- Nord v K10
Ingen ¢ EK43 NS + DKn954 Alla ¢ Kn42
#EKN7653 #Kn642 #DKn1084
4 K1087 #Kn932 a5 4 D72 « D65 & EKn7
vD4 v K873 v EK96 v Kn752 vED954 v862
¢10985 ¢ Kn2 ¢ EK1073 8 ¢ EK + D109
«D42 #1098 »K97 #ED1053 #KB65 »E732
« ED64 4109843 # 10432
v EKn1052 vD10843 vKn73
+ D76 ¢ 62 ¢ 87653
&K 8 &9
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
10 2 3NN+2 *9 460 00 0010 2 5vDV-2 oK 300 00 00| 2 12 4v O-1 &5 100 0.0 0.0
5 7 4v S+1 a2 450 00 00| 4 8 4v V-2 4 A 100 00 00| 4 10 4v V= *Q -620 0.0 0.0
1 11 3NN+1 a3 430 0.0 00 1 11 4v0O-1 8 50 0.0 0.0 6 8 4v V= *Q -620 0.0 0.0
3 9 3NN+1 &T 430 00 00| 5 7 4v0O-1 oT 50 00 0.0[14 15 4v V= *Q -620 0.0 0.0
4 8 3NS+1 &3 430 00 0.0{12 15 4v O-1 +6 50 0.0 0013 1 4vV+l *Q -650 0.0 0.0
16 6 3NN+1 +J 430 0.0 0.0(13 14 44DN-1 +8 -200 0.0 00|11 3 3NO+2 *Q -660 0.0 0.0
13 14 3NS= oT 400 00 0016 6 34DN-1 +8 -200 0.0 0.0 5 9 3NV+3 *Q -690 0.0 0.0
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12 15 3NN-1 43 -50 0.0 00| 3 9 44DN-2 +8 -500 0.0 00(16 7 3NO+3 +3 -690 0.0 0.0
62 4« Kn10542 63 4« Kn5 64 « EK842
Ost vE3 Syd v Kn86 Vast v 1074
Ingen +95 NS + 105 ov + 874
#KDKn8 £#K86542 *76
« E87 « KD96 4 K10843 4 D762 46 4 D973
vK1042 ¢D9876 vKD93 vE74 v Kn53 v KD98
+64 ¢ E7 ¢ KKn6 4873 ¢ KKn92 ¢ E105
#E972 #1106 &7 D103 &#EKKNn92 4105
43 «E9 « Kn105
v Kn5 v 1052 vE62
+ KDKn10832 ¢ ED942 + D63
#543 #EKn9 D843
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
6 8 5¢DS-1 *4 -100 0.0 00(11 3 3&N+2 *3 150 00 00 5 9 3NO-2 aJ 200 0.0 0.0
11 3 5¢DN-2 v3 -300 0.0 00| 6 8 44DO-1 *A 100 00 00 6 8 3NO-2 L) 200 0.0 0.0
2 12 4v O= 45 -420 0.0 00| 5 9 44 0-1 *A 50 00 00|11 3 3NO-2 a2 200 0.0 0.0
4 10 4v O = 43 -420 0.0 0.0 2 12 24 V+1 *T -140 0.0 0.0(14 15 3¢ V+1 s A -130 0.0 0.0
13 1 49 0= 43 -420 0.0 0016 7 24 O+2 s A -170 0.0 0.0({16 7 3¢ V+2 4 A -150 0.0 0.0
14 15 4v O = 43 -420 0.0 00| 4 10 44 O= 46 -420 0.0 00| 4 10 4vO= 4] -620 0.0 0.0
5 9 4v O+l a2 -450 0.0 0013 1 44 0= s A 420 0.0 00|13 1 4v0O= aJ -620 0.0 0.0
16 7 4v O+1 43 -450 0.0 0.0(14 15 34 S-6 vK -600 0.0 00| 2 12 3NO+1 aJ -630 0.0 0.0
65 « ED8 66 49876 67 K743
Nord vD1032 Ost v2 Syd v KKn
Ingen ¢+ D92 NS + D876 ov + 876
&752 £#K642 #D1062
4Kn32 465 4105 4 E32 4 D1098 462
v E87 v Kn954 vKKn96 vE10874 vED62 v10853
¢+ EKN6 ¢8754 ¢ EKKNn94 ¢ 102 ¢ K105 ¢ EDKn32
#Kn963 #D104 #DKn #E95 293 &EK
« K10974 « KDKn4 # EKn5
vK6 vD53 v 974
¢ K103 +53 +94
#EK8 #10873 #Kn8754
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poang
5 9 3NS+2 v7 460 00 00| 6 8 4v0O= &K -420 0.0 0.0(14 15 4vO-1 v4 100 0.0 0.0
6 8 3NS+1 aJ 430 00 00| 2 12 4v O +1 &K -450 0.0 00| 2 12 4v V= *6 -620 0.0 0.0
16 7 3NS+1 v7 430 0.0 00| 4 10 4v O +1 &K -450 0.0 00| 4 10 4v V= +6 -620 0.0 0.0
2 12 3NS= &6 400 00 00 5 9 4v0O+1 oK -450 0.0 00 5 9 4v V= s K -620 0.0 0.0
11 3 3NN= &2 400 00 0011 3 4v O+1 s K -450 0.0 00| 6 8 4vO= +9 -620 0.0 0.0
13 1 3NS= &5 400 00 0013 1 4vO+1 &K -450 0.0 00|11 3 4vO= 43 -620 0.0 0.0
14 15 3NS= &6 400 0.0 00(14 15 4y O+1 oK -450 0.0 00(13 1 4vO= +9 -620 0.0 0.0
4 10 44 S-1 43 -50 0.0 00(16 7 4v O+1 &K -450 0.0 00|16 7 4y V= +8 -620 0.0 0.0
68 « EKn9765 69 « K73 70 « KKn103
Vast v 432 Nord v 9532 Ost v K974
Alla ¢ 74 NS + 10764 ov ¢+ E3
KD K2 &743
& 842 aD 49 « EDKn1062 « ED7 442
v 1095 v EKD7 v Kn104 v8 v Kn102 v 8653
+D9 + KKn10832 + K8 + EDKn93 ¢+ Kn109865 ¢ 42
#Kn10642 #E8 #DKn109743 %6 &8 #EK1095
« K103 4854 #9865
v Kn86 vEKD76 vED
¢ E65 ¢ 52 + KD7
#9753 #E85 #DKn62
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
2 12 4¢ O-1 4K 100 0.0 00| 2 12 44 O-3 vA 150 00 00|13 1 2#4RDS+1 %8 760 0.0 0.0
11 3 34 N-1 vA -100 0.0 00|13 1 5#0-3 vK 150 0.0 0.0 4 10 44 N= *2 420 0.0 0.0
5 9 44 0= s K -130 0.0 00|14 15 4¢ O-3 vA 150 0.0 00|14 15 44 N= *A 420 0.0 0.0
6 8 4¢ O= &K -130 0.0 00 5 9 44 0-1 vK 50 00 00| 5 9 INSH+3 +9 180 0.0 0.0
13 1 44 O= 43 -130 0.0 00|16 7 44 O= vA -130 0.0 00(16 7 24 N+1 ¢+ 4 140 0.0 0.0
14 15 44 O= 43 -130 0.0 00| 4 10 44 O= vA -420 0.0 00|11 3 3&#N= *2 110 0.0 0.0
16 7 34 S-6 vT -600 0.0 00| 6 8 44 0= vA -420 0.0 0.0 2 12 44 N-1 *A -50 0.0 0.0
4 10 4v V= *K -620 0.0 00|11 3 44 0= vA -420 0.0 00| 6 8 44 S-1 *8 -50 0.0 0.0
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